HEVERB—-F]I
NG I PNEUMATIC CO. LT R

A FE S $8& Specifications

41#&(mm)  Bore 12 [ 16 [ 20 [ 25 [ 32 | 40 [ 50 | 63
FERR Action model WHE Double action type
T &4 & Working Fluid =5 Air
B H A | BRI FAZY Basis style LB type FAt
Mounting Type asis style ype ype
T1EEIMPa
ﬂz}._jj 0.1—0.9
Working Pressure range
fit EMPa
1.35
Proof pressure
_T_ 8
R 0~60C
Working temperature
TEEEMM /s 50 800
Working speed range -
& 012 Port Size M5x0.8 PT1/8 PT1/ 4
E# &S Symbol
MALJ MALJ-S
A iTH%3 Order Code
MAL - J- 32X100X30-$-L8
[Eibctil

mounting style

S: WHH
BN REIR [ S: With Magnet

Magnet | =g, gopm
Blank: without magnet

. P 25: 25mm
BEITRE 50 50mm
Adjustable stroke | 75, 75mm

72

Stroke

iz

Bore

TRERK J. fTRETIFRE

Stroke type J: Adjustable stroke type

il
Type

MBI S AR A HKAR

% Special stroke contact us

2.070




75

Series
A R ERSEH Internal Structure
1 2 34 5 6 7 8 9 10 1112 13 14
A\ e i
[
158 =
C - q <
Aaliips! P
FSNo. B Part name FSNo. B Part name
1 28 Nut 9 B5#E# 5 Cushion rubblej
2 SEZEFFPiston rod 10 JEZENO EPiston seal
3 B 2= Z# ERod packing 11 SEFEPiston
4 &Mk Bush 12 fif 53X Wear ring
5 BIEIEE Nut 13 JEZEFTOFERod"0'ring
6 EEBO B Cylinder gasket 14 A% Rod cover
7 8% Cylindertube 15 T2 NE R K Adjustable nut washer
8 EEIER Bolt 16 oif21E Adoustable nut
£I4Z(mm)  Bore 20 \ 25 \ 32 \ 40
=k =3 Cylinder o4& AhIminum alloy
EE Piston 2E84 Ahlminum alloy
JREAT Piston Rod EWN(ETE R EAIR) High carbon Steel(Industrial chrome plated)
JEREMOMFE Piston seal NBR
&= B0, & Cylinder gasket NBR
B % Z# BRod packing NBR
&5miA  Bush MR AR Oil impregnated bearing alloy
CIE Rod cover 254 Aluminum alloy
T IR Wear ring F4cu
Rk Magnet YA IR Plastic magnet
FhiE# f Cushion rubble NBR
o] 121 Adoustable nut R SN (5 FE A0 3E) Steel(zinc chromate)
o 13 42 0 #  Adjustable nut washer TRBHN Industrial plastic steel
A 5MERF(Z %) Overall Dimension(mm)
020~ 040
A+1TIE x 2+ BB T12 A+Stroke x 2+A djustable Stroke
B C+{1%#8 C+Stroke
AY E F G G
H AR M G—/Z} | o-x. G/2|_ F_ #7% Stroke
1| s | -+
3 L Ll |
I ] — EEE=mul
i ,
/ T+A¥TRE
K AEVII\JIE L L T+Adjustable Stroke
4 Thick
#1247 Bore/Strok| A B C|E|F|G|H I |J K L M| T v] Y W X AR AX AY
12 126 | 38 | 53|22|16 10|16 | 9 |4 M5x0.8 | M16x1.5| 14| 15| 19 6 5 M5x0.8| 6 25 22
16 121 | 34 | 54 (22|12 |10 |16 | 10|5 M6x1 M16x1.5|14| 16| 23 6 5 M5x0.8| 6 25 22
20 147 | 40 | 702812 |16 | 20| 12|6 | M8x1.25 | M22x1.5|10| 19| 29 8 6 PT1/8 7 33 29
25 155 144 | 703014 |16 | 22| 17| 6| M10x1.25| M22x1.5[12| 21| 34 | 10 8 PT1/8 7 33 29
32 155 1 44 | 703014 |16 | 22| 17| 6| M10x1.25| M24x2.0{12| 21 |39.5| 12 10 PT1/8 8 37 32
40 180 | 46 | 92 (32|14 |22 | 24| 17| 7| M12x1.25| M30x2.0{12| 21 |49.5| 16 14 PT1/4 9 a7 41
50 196 | 52 | 95 (32|20 |22 | 24| 19| 8| M14x1.5 | M36x2.0|16| 21 |55.5| 16 14 PT1/4 | 11 53 46
63 196 | 52 | 95(32|20 |22 | 24| 19| 8| M14x1.5| M36x2.0| 16| 21|69.5| 16 | 14 PT1/4 | 11 53 46

HYC
HYCD

HYCJ

HYCT

HYC

MBB
QGA(B)

CA1

CSs1
DNC

SDA

SDAD

SDAJ
SDAT

SDAW

SDA
CcQs
cQ2

ADVU

MAL
MSAL
MALD

MAL
MAMAC
MSA

MAD

MAJ

MAR

MA

CJ2
CM2
DSNU

Cu
TN

CXS
CXSW

MGP
CJP

CY1B(S)

MH
ZH

2.071



